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B4l / H5EHE 1% 2F 3F 45

SEEESKREESYRET 6,465 8,983 11,555 | 13,083
SEEESKREESXKRET 5,343 7,746 10,211 | 12,740
SEEESKEESYRET(HER) 6,455 8,962 11,524 | 13,053
SEEESKEESXKRET(BER) 5,343 7,746 10,211 | 12,740
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SREESKREEEXKRET 14 26 34 44
HRFELIRIsBE 5,343 7,746 10,211 | 12,740
FIFEEH 5,343 5,343 5,343 5,343
F2FEEH 2,403 2,403 2,403
FE3IFEEH 2,465 2,465
FAFEEH 2,529

X BRETEENAIWSRBFEE 100,000 3%+ EEESEHEEEREBIEEER

[5f . BERFAREEFERERE SN ZFCHRMMES - TMAAZREFIWEERAER(2.30%) 2 &
X1 : 100,000*3%+(97,000*1.05)*2.30%=3,000+2,343=5,343
X2 : ((97,000%1.05)-2,343)*1.05*2.30%=99,507*1.05*2.30%=2,403
X3 : ((99,507%1.05)-2,403)*1.05*2.30%=102,080*1.05*2.30%=2,465
X4 : ((102,080*1.05)-2,465)*1.05*2.30%=104,718*1.05*2.30%=2,529
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Y1 : (100,000*1.05)*3.30%+100,000*3%(CDSC)=3,465+3,000=6,465

Y2 : ((100,000%1.05)-3,465)*1.05*3.30% +100,000*2%(CDSC)=101,535*1.05*3.30%+100,000*2%=3,518+2,000=5,518

Y3 :((101,535*1.05)-3,518)*1.05*3.30%+100,000*1%(CDSC)=103,094*1.05*3.30%+100,000*1%=3,572+1,000=4,572
Y4 : ((103,094*1.05)-3,572)*1.05*2.30%=(104,676*1.05)*2.30%=2,528
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HRBOI 2R EH 5,343 7,746 10,211 | 12,740
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F2FEEH 2,403 2,403 2,403
FEIFEEH 2,465 2,465
FAFEEH 2,529
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X1 : 100,000*3%+(97,000%1.05)*2.30%=3,000+2,343=5,343
X2 :((97,000%1.05)-2,343)*1.05*2.30%=99,507*1.05*2.30%=2,403
X3 :((99,507%1.05)-2,403)*1.05*2.30%=102,080*1.05*2.30%=2,465
X4 : ((102,080*1.05)-2,465)*1.05*2.30%=104,718*1.05*2.30%=2,529
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Y1 : (100,000*1.05)*3.29%+100,000*3%(CDSC)=3,455+3,000=6,455

Y2 : ((100,000%1.05)-3,455)*1.05*3.29%+100,000*2%(CDSC)=101,546*1.05*3.29%+100,000*2%=3,508 +2,000=5,508
Y3 : ((101,546%1.05)-3,508)*1.05*3.29%+100,000*1%(CDSC)=103,115*1.05*3.29%+100,000*1%=3,562+1,000=4,562
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Y1 : (100,000*1.05)*3.32%+100,000*3%(CDSC)=3,486+3,000=6,486

Y2 : ((100,000%1.05)-3,486)*1.05*3.32%+100,000*2%(CDSC)=101,514*1.05*3.32%+100,000*2%=3,539+2,000=5,539
Y3 :((101,514%1.05)-3,539)*1.05*3.32%+100,000*1%(CDSC)=103,051*1.05*3.32%+100,000*1%=3,592+1,000=4,592
Y4 : ((103,051*1.05)-3,592)*1.05*2.32%=(104,611*1.05)*2.32%=2,548
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X1 : 100,000*3%+(97,000*1.05)*2.32%=3,000+2,363=5,363

X2 :((97,000%1.05)-2,363)*1.05*2.32%=99,487*1.05*2.32%=2,424

X3 :((99,487%1.05)-2,424)*1.05*2.32%=102,038*1.05*2.32%=2,486
X4 : ((102,038*1.05)-2,486)*1.05*2.32%=104,654*1.05*2.32%=2,549
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Y1 : (100,000*1.05)*3.32%+100,000*3%(CDSC)=3,486+3,000=6,486

Y2 : ((100,000*1.05)-3,486)*1.05*3.32%+100,000*2%(CDSC)=101,514*1.05*3.32% +100,000*2%=3,539+2,000=5,539

Y3 : ((101,514*1.05)-3,539)*1.05*3.32%+100,000*1%(CDSC)=103,051*1.05*3.32%+100,000*1%=3,592+1,000=4,592

Y4 : ((103,051*1.05)-3,592)*1.05*2.32%=(104,611*1.05)*2.32%=2,548
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